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QUESTION 1
A business case features a management summary, from which the below extract is taken:

“The new approach will incur significant investment in terms of software licenses and annual maintenance fees, which
will not be negotiable until year four of the proposal. We will research competing suppliers in the marketplace at end of
year three, the supplier will, therefore, be likely to otter a reduced price for year five and beyond. However, we are
convinced that the selected option is the right one. It will give us a competitive edge as a result of improved
management information, in addition to the boost it will give to our image with our established customers."

Which categories of costs and benefits are described in this extract*?
A. Tangible costs, intangible benefits.

B. Tangible benefits, intangible costs

C. Intangible benefits, intangible costs

D. Intangible costs, tangible benefits

Correct Answer: D

A business case is a formal written proposal that details the costs and benefits of a proposed business change or
solution. It helps to justify and secure the approval and funding for a proposed business change or solution. Costs and
benefits can be classified into two types: tangible and intangible. Therefore, option D is the correct answer, as it
identifies which categories of costs and benefits are described in this extract respectively. Intangible costs are costs that
have no physical existence and cannot be measured or quantified easily by human senses. Examples of intangible
costs are reputation, image, morale etc. An example of intangible costs in this extract is significant investment in terms
of software licenses and annual maintenance fees, which will not be negotiable until year four of the proposal, as it has
no physical existence and cannot be measured or quantified easily by human senses. Tangible benefits are benefits
that have physical existence and can be measured or quantified easily by human senses. Examples of tangible benefits
are revenue, profit, market share etc. An example of tangible benefits in this extract is improved management
information, in addition to the boost it will give to our image with our established customers, as it has physical existence
and can be measured or quantified easily by human senses. Option A is not a correct answer, as it does not identify
which categories of costs and benefits are described in this extract respectively. Tangible costs are costs that have
physical existence and can be measured or quantified easily by human senses. Examples of tangible costs are
equipment, materials, labour etc. There is no example of tangible costs in this extract. Intangible benefits are benefits
that have no physical existence and cannot be measured or quantified easily by human senses. Examples of intangible
benefits are satisfaction, loyalty, quality etc. There is no example of intangible benefits in this extract (although image
could be considered as an intangible benefit). Option B is not a correct answer, as it does not identify which categories
of costs and benefits are described in this extract respectively. Tangible benefits are benefits that have physical
existence and can be measured or quantified easily by human senses. Examples of tangible benefits are revenue,
profit, market share etc. An example of tangible benefits in this extract is improved management information, in addition
to the boost it will give to our image with our established customers, as it has physical existence and can be measured
or quantified easily by human senses. Intangible costs are costs that have no physical existence and cannot be
measured or quantified easily by human senses. Examples of intangible costs are reputation, image, morale etc. An
example of intangible costs in this extract is significant investment in terms of software licenses and annual
maintenance fees, which will not be negotiable until year four of the proposal, as it has no physical existence and cannot
be measured or quantified easily by human senses. Option C is not a correct answer, as it does not identify any
category of cost or benefit that has been described in this extract. References: BCS Practitioner Certificate in BAP
Specimen,

QUESTION 2



The board of Jackson Holding wants to save money on its purchases by introducing a new procurements system Before
preparing the business case, what activity would it be BEST to undertake?

A. Prepare a Feasibility Study

B. Select a procurement solution

C. Approve the budget for the new system
D. Prepare a Benefits Realisation Report
Correct Answer: A

A Feasibility Study is an assessment of whether a proposed business change or solution is viable and worthwhile. It
helps to evaluate the benefits, costs, risks and constraints of different options and recommend the best one for further
development. Therefore, option A is the correct answer, as preparing a Feasibility Study would be the best activity to
undertake before preparing a business case for introducing a new procurement system. A Feasibility Study would help
to identify and compare different procurement solutions based on their technical, operational, economic, legal and social
feasibility. It would also help to estimate their expected benefits, costs, risks and impacts on the organisation and its
stakeholders. A Feasibility Study would provide a solid foundation for preparing a business case that justifies why a
particular procurement solution should be selected and implemented. Option B is not a correct answer, as selecting a
procurement solution would not be an appropriate activity to undertake before preparing a business case. Selecting a
procurement solution would require conducting a Feasibility Study first to evaluate different options and choose the best
one based on objective criteria. Selecting a procurement solution without conducting a Feasibility Study would risk
choosing an unsuitable or suboptimal solution that may not meet the organisation\\'s needs or objectives. Option C is
not a correct answer, as approving the budget for the new system would not be an appropriate activity to undertake
before preparing a business case. Approving the budget for the new system would require preparing a business case
first to estimate the costs and benefits of different options and justify why a particular option should be funded and
implemented. Approving the budget for the new system without preparing a business case would risk allocating
insufficient or excessive funds that may not reflect the value or feasibility of the solution. Option D is not a correct
answer, as preparing a Benefits Realisation Report would not be an appropriate activity to undertake before preparing a
business case. Preparing a Benefits Realisation Report would require implementing the new system first to measure
and evaluate its actual benefits against its expected benefits. Preparing a Benefits Realisation Report without preparing
a business case would risk implementing an ineffective or inefficient solution that may not deliver the desired outcomes
or benefits. References: BCS Practitioner Certificate in BAP Specimen, page 29.

QUESTION 3

Why would a Business Analyst use a consensus Business Activity Model (BAM) in gap analysis?

A. To assess how tar the organisation\\'s current activities support the desired situation

B. To identify how the organisation should structure itself to support the desired situation

C. To determine which activities in the desired situation are not financially feasible

D. To establish which stakeholder views will not be reflected in the desired situation

Correct Answer: A

A consensus BAM is a conceptual model that depicts the agreed view of what the organisation does or should do. It
shows the high-level activities and the logical dependencies between them. By comparing the consensus BAM with the

current situation, a gap analysis can identify where the organisation is not performing as desired or where there are
opportunities for improvement. Therefore, option A is the correct answer.




QUESTION 4

EuroCoach is a holiday coach company that Is reviewing its internal business processes. The following requirement for
improvement has been logged as a business rule:

\V'EuroCoach Is now legally responsible for ensuring that passengers taking cross-border journeys have valid passports
and visas (If applicable) tor the countries to which, and through which, they will travel\\

Which type of business rule is this?

A. Internal policy.

B. Internal processed

C. External requirement.

D. External constraint.

Correct Answer: C

An external requirement is a business rule that is imposed by an external source, such as a law, regulation, or standard.

The business rule in this question is a legal obligation that EuroCoach has to comply with, so it is an external
requirement. Option C is the correct answer.

QUESTION 5

A Business Analyst and a project Manager are producing a business case for an initiative, which aims to improve the
cyber defense of a large financial services provider.

They met recently to review progress, and made the following notes for the next draft:
The benefits of cyber will be describes in quantitative terms, so we will need to describe these Qualitatively.

We need to make it clear that we have fully explored the solution market, and we have considered a range of
approaches to meeting the objectives of this project.

The threat posed to the organization from cyber attack, and therefore the justification for the project, needs to be clearly
articulated.

Which of the following sets of elements of a business case will cover ALL of these points?
A. Description of the current situation. analysis of costs and benefits, options considered
B. Impact assessment, analysis of costs and benefits, recommendations

C. Recommendations, risk assessment, options considered

D. Description of the current situation, impact assessment, risk assessment

Correct Answer: A

A business case is a formal written proposal that details the costs and benefits of a proposed business change or
solution. It helps to justify and secure the approval and funding for a proposed business change or solution. A business



case typically consists of several elements, such as description of the current situation, analysis of costs and benefits,
options considered, recommendations, impact assessment, risk assessment etc. Therefore, option A is the correct
answer, as it identifies which set of elements of a business case will cover all of these points respectively. Description of
the current situation is an element that describes the problem or opportunity that exists in the current state and the need
or rationale for a change or solution. It helps to explain what is wrong or missing in the current state and what are the
objectives and outcomes of a change or solution. This element will cover the point that the threat posed to the
organisation from cyber attack, and therefore the justification for the project, needs to be clearly articulated. Analysis of
costs and benefits is an element that evaluates the financial and non-financial impacts of a proposed change or solution.
It helps to compare and contrast the costs and benefits of different options or solutions and determine their feasibility
and desirability. This element will cover the point that the benefits of cyber will be described in quantitative terms, so we
will need to describe these qualitatively. Options considered is an element that identifies and describes the alternative
ways of addressing a problem or opportunity. It helps to explore and analyse the pros and cons of different options or
solutions and select the best one based on criteria and evidence. This element will cover the point that we need to make
it clear that we have fully explored the solution market, and we have considered a range of approaches to meeting the
objectives of this project. Option B is not a correct answer, as it does not identify which set of elements of a business
case will cover all of these points respectively. Impact assessment is an element that assesses the effects or
consequences of a proposed change or solution on people, processes, organisation and technology. It helps to identify
who or what will be affected by a proposed change or solution and how they will be affected. This element will not cover
any of these points. Recommendations is an element that proposes and justifies the preferred option or solution for
addressing a problem or opportunity. It helps to persuade and convince decision makers or influencers to approve and
fund a proposed change or solution. This element will not cover any of these points. Option C is not a correct answer, as
it does not identify which set of elements of a business case will cover all of these points respectively.
Recommendations is an element that proposes and justifies the preferred option or solution for addressing a problem or
opportunity. It helps to persuade and convince decision makers or influencers to approve and fund a proposed change
or solution. This element will not cover any of these points. Risk assessment is an element that identifies and evaluates
the uncertainties or threats that may affect a proposed change or solution. It helps to estimate the likelihood and impact
of risks and plan how to avoid or mitigate them. This element will not cover any of these points. Option D is not a correct
answer, as it does not identify which set of elements of a business case will cover all of these points respectively.
Description of the current situation is an element that describes the problem or opportunity that exists in the current
state and the need or rationale for a change or solution. It helps to explain what is wrong or missing in the current state
and what are the objectives and outcomes of a change or solution. This element will cover the point that the threat
posed to the organisation from cyber attack, and therefore the justification for the project, needs to be clearly articulated.
Impact assessment is an element that assesses the effects or consequences of a proposed change or solution on
people, processes, organisation and technology. It helps to identify who or what will be affected by a proposed change
or solution and how they will be affected. This element will not cover any of these points. Risk assessment is an element
that identifies and evaluates the uncertainties or threats that may affect a proposed change or solution. It helps to
estimate the likelihood and impact of risks and plan how to avoid or mitigate them. This element will not cover any of
these points. References: BCS Practitioner Certificate in BAP Specimen, page 42.

QUESTION 6

Paul has been struggling to make his farm profitable for a number of years Recently, an energy firm has asked him if it
can survey his land in order to determine if there is natural gas deep under his fields If there is. they will pay him for the
extracted gas.

Paul has discussed this request with his business partner, explaining that he would like to explore the possibility as he

feels that any subsequent extraction process is safe, will cause minimal damage to the farm, and will return the farm to
profitability. Paul\\'s business partner disagrees, believing that the process for extracting the gas is dangerous, that the
machinery will spoil the landscape and that it would undermine the vision they had of living off the land.

On which element of CATWOE are Paul and his business partner in disagreement?

A. Customer

B. Actor



C. Transformation
D. Work view
Correct Answer: D

CATWOE is a technique for exploring stakeholder business perspectives by identifying six elements: Customer, Actor,
Transformation, Worldview, Owner and Environment. It helps to understand how different stakeholders perceive a
business situation or problem and what they expect from a solution. Therefore, option D is the correct answer, as Paul
and his business partner are in disagreement on their worldview element of CATWOE. Worldview is the element that
describes the beliefs, values, assumptions or principles that underpin a stakeholder\\'s perspective. It helps to explain
why a stakeholder thinks that a business situation or problem is worth addressing or solving. Paul and his business
partner have different worldviews regarding the possibility of extracting natural gas from their land. Paul believes that it
is a safe, profitable and reasonable option that will improve their financial situation. His business partner believes that it
is a dangerous, unattractive and unacceptable option that will compromise their vision of living off the land. Option A is
not a correct answer, as Paul and his business partner are not in disagreement on their customer element of CATWOE.
Customer is the element that describes who benefits from or is affected by a business situation or problem or its
solution. It helps to identify who are the main beneficiaries or victims of a business situation or problem or its solution.
Paul and his business partner have the same customer, which is themselves as the owners of the farm. Option B is not
a correct answer, as Paul and his business partner are not in disagreement on their actor element of CATWOE. Actor is
the element that describes who carries out or performs a business situation or problem or its solution. It helps to identify
who are responsible for implementing or delivering a business situation or problem or its solution. Paul and his business
partner have the same actor, which is themselves as the owners of the farm. Option C is not a correct answer, as Paul
and his business partner are not in disagreement on their transformation element of CATWOE. Transformation is the
element that describes what changes or processes take place in a business situation or problem or its solution. It helps
to identify what inputs are converted into outputs in a business situation or problem or its solution. Paul and his business
partner have the same transformation, which is extracting natural gas from their land. References: BCS Practitioner
Certificate in BAP Specimen, page 37.

QUESTION 7

The below statements have been made about the consensus Business Activity Model (BAM) Which THREE of the
statements are TRUE?

A. A conceptual model

B. Shows who undertakes the business activities

C. Shows the logical sequence of process steps

D. Forms the basis of subsequent gap analysis

E. Describes a stakeholder\\'s perspective on what the business does
Correct Answer: ACD

A consensus Business Activity Model (BAM) is a diagram that shows the high level activities that an organisation
performs or delivers and the flow or sequence of the activities. It helps to understand what an organisation does, how it
does it, who does it, where it does it and why it does it from a common or shared perspective of all relevant stakeholder
groups. Therefore, options A, C and D are true statements about a consensus BAM. Option A is a true statement, as a
consensus BAM is a conceptual model that represents a business situation or problem at a high level of abstraction. It
helps to simplify and clarify the complexity and ambiguity of the business situation or problem. Option C is a true
statement, as a consensus BAM shows the logical sequence of process steps that the organisation follows or performs
to achieve its objectives and outcomes. It helps to identify the order and dependencies of the activities and how they are
connected or related. Option D is a true statement, as a consensus BAM forms the basis of subsequent gap analysis



that compares the current and desired situations or problems and identifies the differences or gaps between them. It
helps to determine what changes or improvements are needed to bridge the gaps and achieve the desired situation or
problem. Option B is not a true statement, as a consensus BAM does not show who undertakes the business activities,
but what the business activities are. The actors or performers of the business activities are shown in another technique,
such as RACI chart. Option E is not a true statement, as a consensus BAM does not describe a stakeholder\\'s
perspective on what the business does, but a common or shared perspective of all stakeholder groups on what the
business does. A stakeholder\\'s perspective on what the business does is described in another technique, such as
CATWOE. References: BCS Practitioner Certificate in BAP Specimen, page 45.

QUESTION 8

BuildCo is small building company with the stall. The owner to reduce time spent on administration by simplifying the
company\\'s paperwork. This paperwork includes provides quotes and invoices, as well as managing orders and
receipts for building materials.

Most of the paperwork is completed manually and copies are stored in filing cabinets. However, quotes and invoices are
produced on a word processor and the stored on a computer, with printed copies also stored in the filing cabinets. The
owner is not sure that all the current paperwork is necessary.

Which investigation technique would be MOST effective in establishing the need for item of paperwork?
A. Questionnaire

B. Workshop

C. Interviews

D. Document Analysis

Correct Answer: D

Document analysis is a technique for collecting information from existing documents within an organisation or project. It
helps to understand the current situation or problem and identify any gaps or issues that may exist. Therefore, option D
is the correct answer, as document analysis would be the most effective technique in establishing the need for each
item of paperwork. Document analysis would help to review the content and purpose of each item of paperwork and
compare it with the organisation\\'s objectives and requirements. Document analysis would help to evaluate the
usefulness and relevance of each item of paperwork and identify any duplication or redundancy that may exist.
Document analysis would help to recommend any changes or improvements to each item of paperwork and justify them
with evidence and rationale. Option A is not a correct answer, as questionnaire is not the most effective technique in
establishing the need for each item of paperwork. Questionnaire is a technique for collecting information from
stakeholders by asking them predefined questions in written form. It helps to elicit quantitative or qualitative data from a
large number of stakeholders in an efficient and consistent way. Questionnaire would not be the most effective
technique in establishing the need for each item of paperwork, as it may not provide enough detail or explanation for
each item of paperwork and may be influenced by stakeholder bias or preference. Option B is not a correct answer, as
workshop is not the most effective technique in establishing the need for each item of paperwork. Workshop is a
technique for conducting group discussions and activities with stakeholders to elicit, analyse, validate and prioritise their
views and needs. It helps to facilitate effective communication and collaboration among stakeholders and resolve
conflicts or issues. Workshop would not be the most effective technique in establishing the need for each item of
paperwork, as it may not be practical or feasible to involve all relevant stakeholders in a workshop and may be affected
by stakeholder dynamics or politics. Option C is not a correct answer, as interviews are not the most effective technique
in establishing the need for each item of paperwork. Interviews are a technique for collecting information from
stakeholders by asking them open-ended questions in verbal form. It helps to elicit rich and detailed information from
individual stakeholders in an interactive and flexible way. Interviews would not be the most effective technique in
establishing the need for each item of paperwork, as it may be time- consuming and costly to interview all relevant
stakeholders and may be subject to stakeholder interpretation or opinion. References: BCS Practitioner Certificate in



BAP Specimen, page 35.

QUESTION 9

AlpmeTrails is a company that specialises in offering tailored walking holidays The company was set up by two people,
who each own 50% of the business AlpineTrails books hotels, transport and equipment to create bespoke holidays for
AlpineTrails customers.

An agreement was recently reached with WalkNation. a national walking organisation, for AlpineTrails to provide a
number of special holidays for its members These will be branded as WalkNation Holidays AlpineTrails will be
responsible for organising the holidays but WalkNation will undertake the marketing and booking of these special
holidays for its members

As well as customers, which THREE stakeholder groups are represented in this scenario?
A. Owner

B. Partner

C. Supplier

D. Manager.

E. Competitor

Correct Answer: ABC

A stakeholder is any person or group who has an interest in or influence over an organisation or project. Stakeholders
can be classified into different categories based on their relationship with the organisation or project. One possible
classification is the stakeholder wheel, which identifies six generic stakeholder categories: owner, partner, supplier,
customer, regulator and competitor. Therefore, options A, B and C are correct answers, as they represent three
stakeholder groups that are involved in the scenario. Owner refers to the person or group who owns or controls the
organisation or project. In this case, it is the two people who each own 50% of AlpineTrails. Partner refers to the person
or group who collaborates or cooperates with the organisation or project to achieve mutual benefits. In this case, it is
WalkNation, who has agreed to work with AlpineTrails to provide special holidays for its members. Supplier refers to the
person or group who provides goods or services to the organisation or project. In this case, it is the hotels, transport and
equipment providers that AlpineTrails books for its customers. Option D is not a correct answer, as manager is not one
of the generic stakeholder categories defined in the stakeholder wheel. Manager refers to the person or group who
oversees or coordinates the activities of the organisation or project. In this case, it could be either one of the owners of
AlpineTrails or someone appointed by them. Option E is not a correct answer, as competitor is not represented in this
scenario. Competitor refers to the person or group who offers similar or alternative goods or services to the same
market as the organisation or project. In this case, it could be another company that specialises in offering tailored
walking holidays. References: BCS Practitioner Certificate in BAP Specimen, page 18.

QUESTION 10

The customer journey map below was created for Eyes 4\\'U. a chain of high street opticians This shows the journey of
a person who is 67 years old and retired with a limited pension and active social life

What are the MOST LIKELY statements to be in Box F and Box 6?
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A. F concern at cost 6 provide clearer information on options and pricing

B. F: worry about choosing the wrong frame 6: introduce virtual frame selection technology
C. F provide clearer information on options and pricing 6 concern at cost

D. F pleased appointment ending 6 provide clearer information on options and pricing
Correct Answer: A

A customer journey map is a visual representation of the steps and emotions that a customer goes through when
interacting with a product or service. It helps to identify the pain points and opportunities for improvement in the
customer experience. A customer journey map typically consists of the following elements: stages, actions, thoughts,
feelings, touchpoints and opportunities. Therefore, option A is the correct answer, as it matches the elements of the
customer journey map for Box F and Box 6. Box F represents the feeling of the customer at the stage of choosing a
frame. The feeling is concern at cost, as the customer is worried about the price of the frames and lenses. Box 6
represents the opportunity for improvement at the stage of selecting lenses. The opportunity is to provide clearer
information on options and pricing, as this would help the customer to make an informed decision and reduce their
anxiety. Option B is not a correct answer, as it does not match the elements of the customer journey map for Box F and
Box 6. Box F represents the feeling of the customer, not an opportunity for improvement. Box 6 represents an
opportunity for improvement, not a feeling of the customer. Option C is not a correct answer, as it does not match the
elements of the customer journey map for Box F and Box

6. Box F represents the feeling of the customer, not an opportunity for improvement. Box 6 represents an opportunity for
improvement, not a feeling of the customer. Option D is not a correct answer, as it does not match the elements of the

customer journey map for Box F and Box 6. Box F represents the feeling of the customer, not an opportunity for
improvement. Box 6 represents an opportunity for improvement, not a feeling of the customer.

References: BCS Practitioner Certificate in BAP Specimen, page 23.



QUESTION 11

Nastya is the CEO of a large technology firm, which develops new and innvolvative nanotechnology. Below is an email
she has sent to her management team:

Dear Team,

Recent media coverage has revealed that our competitors have lower costs. It is important that we get back to our
suppliers to see il they can secure a better component pnce for the next version of our NanoVac range Let\\'s also
consider the energy costs of our labs, \'m mindful that costs are rising due to investment in renewable power-1 want us
to negotiate with our energy supplier to get a better deal.

\\'ve also been reading reports on social responsibility and sustainability and I\\'d like a lull review of the biodegradability
of the packaging of all our products- we don\\'t want media attention for being a technology company that wastes natural
resources.

Our employment regulations also need revisiting as there have been changes to pension rules and paternity/maternity
rights for workers and | want us to be aware of these

Finally, regarding the staff conference | want to launch a new staff development programme, which aims to identify and
develop the rising stars in our business People development should be a key priority in our next annual plan.

Thanks. Nastya."

Which elements of PESTLE are identified in this email?

A. Environmental, Political. Socio-Cultural.

B. Economic, Environmental, Legal

C. Socio-Cultural. Technological. Economic

D. Political, Legal. Economic

Correct Answer: B

The elements of PESTLE that are identified in this email are Economic, Environmental and Legal. Economic factors are
related to the costs and prices of the business and its competitors. In this email, Nastya mentions that their competitors
have lower costs and that they need to secure a better component price and negotiate with their energy supplier (B).
Environmental factors are related to the natural resources and sustainability of the business and its impact on the
environment. In this email, Nastya mentions that she wants a full review of the biodegradability of the packaging of all
their products and that she is mindful of the costs of renewable power (E). Legal factors are related to the laws and
regulations that affect the business and its operations. In this email, Nastya mentions that their employment regulations

need revisiting due to changes in pension rules and paternity/maternity rights (L). References: PESTLE Analysis
Explained (With Examples) What is a PESTLE Analysis? A Complete PESTLE Analysis Guide - OnStrategy

QUESTION 12

A business analyst has been carrying out investigations into a problem situation However, it is clear to the business
analyst that, even after a number of interviews with individual stakeholders, some stakeholder s views still conflict.

Which investigation technigue SHOULD be used to resolve the conflict and gain a consensus?



A. Scenario analysis.
B. Questionnaire

C. Observation

D. Workshop
Correct Answer: D

A workshop is a technique for conducting group discussions and activities with stakeholders to elicit, analyse, validate
and prioritise their views and needs. It helps to facilitate effective communication and collaboration among stakeholders
and resolve conflicts or issues. Therefore, option D is the correct answer, as a workshop would help the business
analyst to resolve the conflict and gain a consensus among stakeholders who have different views after individual
interviews. A workshop would help to bring together the conflicting stakeholders in one place and time and enable them
to share and compare their views openly and constructively. A workshop would help to identify and address the sources
and reasons of the conflict and find common ground and mutual understanding among stakeholders. A workshop would
help to generate and evaluate different options or solutions that satisfy all or most of the stakeholder views and agree on
the best one for further development and implementation. Option A is not a correct answer, as scenario analysis is not a
technique for resolving conflict and gaining consensus among stakeholders who have different views after individual
interviews. Scenario analysis is a technique for exploring how different scenarios or situations could affect the outcomes
or impacts of an organisation or project. It helps to test the feasibility and desirability of different options or solutions
under various circumstances or assumptions. Option B is not a correct answer, as questionnaire is not a technique for
resolving conflict and gaining consensus among stakeholders who have different views after individual interviews.
Questionnaire is a technique for collecting information from stakeholders by asking them predefined questions in written
form. It helps to elicit quantitative or qualitative data from a large number of stakeholders in an efficient and consistent
way. Option C is not a correct answer, as observation is not a technique for resolving conflict and gaining consensus
among stakeholders who have different views after individual interviews. Observation is a technique for gathering
information from stakeholders by watching them perform their tasks or activities in their natural environment. It helps to
analyse how stakeholders work in practice and identify their implicit or tacit needs. References: BCS Practitioner
Certificate in BAP Specimen, page 42.
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